1FZFDER

B 2l SR IN s
L B mE 5’ 04 DRS
2 Tpr 2 5’30 WELI1=7o57
3 FiE &8 6 47 WELS1=7957




1FEFDE

B

LT H1L B
L mA RHA 501
2 REE HIA 511
3 WA R 5’20




2FLZFDER

=Y &R0 A N e
L EitCA0TE 4’49

2 WL B 4’57 PIERRE L/ M
3 IRA #ER 511 DRS

4 B KE 833 EELES1=7o5T




2FBFDER

Bz 24T SR N s

1 H 58 4’11 WEES 17957
2 KH A 421 PIEREE /D e
3 Nt Bt 4’32 PIERRE /)
4 LS 4’38 ol e Ny 2 )
5 L EE 4’47 WELI1=7oST
6 IRA & 4’49

7 W BhE] 4’49 PERRE L/
8 INEk e 501 PIERRE L EM
9 Sz WS 511 =iRREL

10 Folll YA 519 WELS1=7o57




3FLTFDER

IEfiz e H14L FRE

1 | E 521 R42RC

2 45 il 526 WELrS1=79357
3 T 5’37

4 Bl B 5’59 wELS1=7057
5 BIA T35 6’29 LI 1=F o5
6 BRE B3 814 PIERRE LV




3FEBTOE

B Ll 914 L i
1 SN =3} 5’29 WELS1=Po5T
2 2 b0l 5’44 DRS
3 FH #Hh=E 6’ 05 PERRE £V ER
4 R #E 6’35 WELY1=7957
5 Pk JoiE 701 WEEI1=Po5T




AFLFDER

Bz ZAT 115 =

1 HA X 5’04 ®2RC

2 RE = 5’20 DRS

3 i 5’30 DRS

4 WF F== 5’33 R42RC

5 e BE 5’36 POERRE LD R
6 R Hz= 548 R2RC

7 RE FF& 5’55

8 S JE 6’13 DRS

9 BN i 6’ 24 fWEED1=Po57
10 B H 6’28 fpEED1=Po5T
11 4 BE 657 R4ZRC




AFBFORR

IEfz &R SN RS

1 A 105 4’37 WELI1=7o57
2 B &3t 4’39 DRS

3 £MH A= 4’57 PIERRE D]
4 LI FER 4’57 DRS

5 Fa EX 501 DRS

6 aiE & 507

7 45 BX 509 WEEY1=7o57
8 aif BAZ 511 PERRE D]
9 I &8 512 PIERRE £
10 Pk & 513 DRS

11 AR —E 514 PIERRE E D ER
12 ML H—ER 546 PIERRE LR
13 all # 557 PERRE_E M
14 IREA R 6’59 SiRpEL

15 A3 183 7' 29 R4 RC




S5FLFDE

Bz 2l SN B
T gk ER 7 04 R2RC
2 TSI~ 7 710
2 aHF 05 712 R2RC
4 LA =k 7 43 iRk
5 INE 7 7' 57 =i b
6 Pk ENE 8 26 =Rkt
7 SE &% 8 29 =iRkEL
8 BER BR 8’34 DRS
9 ARER #rikss 8 54 R42RC
10 FER DB 9’04 =ikt
11 i BRI 1217 WE L1757




S5FBTFDED

MBI &R SN A

1 =H =i 6 44

2 Rk Kig 6’59 =ik

3 Hp B 710 =iRpE L

4 =5 B 7 23 DRS

5 B 7 26 =ipE L

6 MO BEA 727 DRS

7 AR RX 802 L1757
8 S &Ff 810 =iRpEL




6 FLFDHER

IEfi 51 L A
T HA fEX 709 R4RC
2 L#2 7’11 PIERRE LR
3 &HH 716 DRS
4 aE Eih 729 R2RC
5 e FE 7' 33 DRS
6 %H PE 7' 35 DRS
7 & &5 7' 37 DRS
8 F=H B 742 PRERREE L/ R
9 =i FX 7 48 RB4RC
10 A =& 833 R42RC




6FFBFDER

MBI 24T RPN i Bz ZRl 9415 RS

T HH #oREA 6’10 PIERRE LV 16 ZM| IKIE 7' 35 PIERRE £
2 XHF LR 6’36 DRS 17 =8 BN 7 46 ERRE LD
3 BO =k 6 42 18 WA HmE 8 11 PIERRE />
4 i % 6’46 PIERRE D ER 19 fA BF 8 28 =iRfELE
5 hofE BEX 6’47 PERRE E DR 20 =K B 843

6 )l & 6 47 PIERRE LD 21 IR e 846 =ik
7 Fil XS 6’53 DRS

8 KE [ 657

9 FRft IR 6’59 PIRRRE LD

10 Wp Bt 700 AIERREE D

11 S ER 7 03 =R b

12 R B 7' 14 =RpEE

13 e 53% 716 DRS

14 kA &N 718 DRS

15 fRE Yo 7 23 PIERRE_E R




